LV.F-100
LV.F-100-AS

ELESA J& 4% it
WH &% AKCE R B4

- WA e B R B EPA) BRSO R, TR, b,
fE A B H 0 A

- AERES, B,

- WA T RIEN,

- LVIFRL R A R A e AR B

- LV.F-ASHL . HNBRRETO B 8 AR AKCF B, S,
FHRMEETGRERERRT RREFE, WLEXBE AW, SF
FESSEARTHERT, REQDHIAL,

- T 2180% 0y o H %Rk L

RS (ERITE, 2 LE5127),

s
o
"y
a4
r
E |
i
r
r
.
&
i
,._
&
&+
,.--..
&
£~
£
t.
a
o
)
4
'y
&
&
‘..
&
o
i,
&
A
£
‘.
{.
&£
4
L1
L
N

s A A R A AR s SN S8 s

L

TR AT WA B AT, SE12T KA,

KFREFHRCRENZN TERPFRAFE, ILRERITR
e PTG RO, KPR, TR EXIE, REFEmE R,

KFREGTOEBBMVYRE, ERATHRENAFAER, £
RueFEFHenReE, #AESFE, HEEARPENRT

FHZ A,
d
' | =1
JERR
B AT
= | s B
! _’_L | —1 5_ S—
12.5
70
D
R AR E R+t g | EW | ®F | BPS | =8
e i = e & = D L Lig I d | ) s [N] g g#
312521| LVF-100-24-M16x58 | 315521| LVF-100-24-AS-M16x58 101 104 M16 58 257 311
312525 | LVF-100-24-M16x98 | 315525| LV.F-100-24-AS-M16x98 141 144 M16 98 308 362
312541 | LV.F-100-24-M16x138 | 315541| LVF-100-24-AS-M16x138 | 100 181 184 43 | M16 138 24 24 25000 358 412
312561 | LV.F-100-24-M16x158 | 315561| LV.F-100-24-AS-M16x158 201 204 M16 158 385 439
312625 | LV.F-100-24-M20x98 | 315625| L\V/F-100-24-AS-M20x98 141 144 M20 98 378 432
312641 | LV.F-100-24-M20x138 | 315641| LV.F-100-24-AS-M20x138 181 184 M20 138 457 511
312661 | LV.F-100-24-M20x158 | 315661| LVF-100-24-AS-M20x158 | 100 201 204 43 | M20 158 24 24 25000 496 550
312681 | LV.F-100-24-M20x198 | 315681| LV.F-100-24-AS-M20x198 241 244 M20 198 579 633
312725 | LVF-100-24-M24x98 | 315725| LVF-100-24-AS-M24x98 141 144 M24 98 476 530
312761| LVF-100-24-M24x158 | 315761| LVF-100-24-AS-M24x158 | 100 201 204 43 | M24 158 24 24 25000 648 702
312781| LV.F-100-24-M24x198 | 315781| LV.F-100-24-AS-M24x198 241 244 M24 198 766 820
*URABAEN REEXLERAEAT, RhERGHELNREE, THELIRERNER,
# h Sk T & A BE,

@ [elemnu'l‘in' “ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




